

5.7.5 システムの  $r = (7.1)$  を用いる

$$L = c \sum (\xi_n + \hat{\xi}_n) + \frac{1}{2} \|w\|^2 - \sum (\mu_n \xi_n + \hat{\mu}_n \hat{\xi}_n) - \sum a_n (\varepsilon + \xi_n + w^T \phi(x_n) + b - \tau_n) - \sum \hat{a}_n (\varepsilon - \hat{\xi}_n - w^T \phi(x_n) - b + \tau_n)$$

2.4.4)  $\frac{\partial}{\partial x} |x|^2 = 2x, \frac{\partial}{\partial x} x^T y = y$

$$\frac{\partial L}{\partial w} = w - \sum a_n \phi(x_n) + \sum \hat{a}_n \phi(x_n) = 0$$

$$\therefore w = \sum (a_n - \hat{a}_n) \phi(x_n) \quad \dots (7.57)$$

$\neq b$

$$\frac{\partial L}{\partial b} = -\sum a_n + \sum \hat{a}_n = 0$$

$$\therefore \sum (a_n - \hat{a}_n) = 0 \quad \dots (7.58)$$

$\neq \mu$

$$\frac{\partial L}{\partial \xi_n} = c - \mu_n - a_n = 0$$

$$\therefore a_n + \mu_n = c \quad \dots (7.59)$$

$\neq \hat{\mu}$

$$\frac{\partial L}{\partial \hat{\xi}_n} = c - \hat{\mu}_n + \hat{a}_n = 0$$

$$\therefore \hat{a}_n + \hat{\mu}_n = c \quad \dots (7.60)$$

(7.57), (7.58), (7.59), (7.60) より

$$L = c \sum \xi_n + c \sum \hat{\xi}_n + \frac{1}{2} \sum_n \sum_m (a_n - \hat{a}_n)(a_m - \hat{a}_m) \phi(x_n)^T \phi(x_m) - \sum \mu_n \xi_n - \sum \hat{\mu}_n \hat{\xi}_n$$

$$- \varepsilon \sum a_n - \sum a_n \xi_n - \sum_n \sum_m (a_n - \hat{a}_n) \phi(x_n)^T \phi(x_m) - b \sum a_n + \sum a_n \tau_n$$

$$- \varepsilon \sum \hat{a}_n + \sum \hat{a}_n \hat{\xi}_n + \sum_n \sum_m \hat{a}_n (a_m - \hat{a}_m) \phi(x_n)^T \phi(x_m) + b \sum \hat{a}_n - \sum \hat{a}_n \tau_n$$

$$= (c \sum \xi_n - \sum \mu_n \xi_n - \sum a_n \xi_n) \stackrel{=0}{\leftarrow} c \sum \xi_n - \sum \mu_n \xi_n - \sum a_n \xi_n = \sum (c \xi_n - \mu_n \xi_n - a_n \xi_n) = \sum \xi_n (c - \mu_n - a_n) = 0 \quad \leftarrow (7.59)$$

$$+ (c \sum \hat{\xi}_n - \sum \hat{\mu}_n \hat{\xi}_n + \sum \hat{a}_n \hat{\xi}_n) \stackrel{=0}{\leftarrow} (7.60)$$

$$+ \left\{ \frac{1}{2} \sum_n \sum_m (a_n - \hat{a}_n)(a_m - \hat{a}_m) \phi(x_n)^T \phi(x_m) - \sum_n \sum_m a_n (a_m - \hat{a}_m) \phi(x_n)^T \phi(x_m) + \sum_n \sum_m \hat{a}_n (a_m - \hat{a}_m) \phi(x_n)^T \phi(x_m) \right\}$$

$$- \varepsilon \sum (a_n + \hat{a}_n) - b \sum (a_n - \hat{a}_n) + \sum (a_n - \hat{a}_n) \tau_n$$

$\stackrel{=0}{\leftarrow} (7.58)$

$$= -\frac{1}{2} \sum_n \sum_m (a_n - \hat{a}_n)(a_m - \hat{a}_m) \phi(x_n)^T \phi(x_m) - \varepsilon \sum (a_n + \hat{a}_n) + \sum (a_n - \hat{a}_n) \tau_n \quad \dots (7.61)$$

を得る。